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Warm Up Grade 8

Find the volume (Show all work)
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Warm Up Grade 8
solution

Find the volume (Show all work)

Area of base = L x W V = Area of base x height
=20mx8ml| = 160m?> x12m
= 160 m?2 =1920 m®

20m
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Finding Volume of Triangular Prisms

You can find the volume of any prism using the formula we stated yesterday.

\Volume =Area of basx‘ height s

First, determine the shape of the base, then find its area, finally multiply by the

height of the prism.
Base shape of a triangular prism is ALWAYS a A_

X\

Vo Avasea= ~—Z

= |8em X |0em
2

30w = |80c.ML

Examples:

4o 2
= %cm"x?igcm
o) = 2700w
- b \l\\: AWM
als -—XZ:L" =1Qenef
12 cm — 8’-‘ cm
2-

= Y2Zcm™
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page 205-206
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